V,,, —— < L.

— s
L e ST TLL mxf_, 1?2 |00 0. velp
MLOEV .:illﬁ (Mq____ﬁ_____ 384 1% !

e T - C(eSe@Q wa, 7
__..___-____f_ﬁﬁsz;__é_ﬂ_sga@_s Theocey [ fAva@

= Londesdy W

A T\{'gA e /o0

il Mo r"\ ((JGJ “__l—@_o ) 4 ( )

=~ L“‘r?& o £y glid .,r '




g .

. FCD IE 6 6 5;5,_:(' i

\'L_ﬁ_o) T YA P Abs, U
e e AT
f L‘/.l > O 1) e

- U

s M,\\«\:s




&JG QG u&)%ﬂﬁ a

. ﬁ“& On L\@Q‘ o\ Jrow “HMJ )
§ EO“H» e Mhe  X= lf£
: nd e vae, X=% Af

|
g Answer" % \o f“/o » ('-
[y 22
| <C> l o8 "

;Cmﬁ% ?ﬂ&»«d’ fof Lbr(‘ﬂ IM‘




(4 __€_n_L&tl4 tCo3(2 L—:ﬁz

o VW S




QQ\GI‘ZGMPOQG c» | |

65 W, gfR, W H/ut, L/
IR Y. o tr\S’IDe YA B&COL

caw,mst:JM._. NOFE f/ DO .’
L ey y'O ~ (0 23
L O o

+(_ cn (i 1’(,34’ Lﬂ'

et

Mg Te.

e e i k., ‘____L/ 9‘ & ‘7
—— -‘ er————— N =0 .’




H TEOE=T Ro%s _-7 ”  /‘— £ ,'z,t::)[ i__:;, |
—Y S, 566x € dun Oo",ifxs

2‘ (Y%OMX&Y 692_-

$e0i2 T = roapin
? war |

’ (36 = y
L Y*“

j‘GQE




(O 03 "'D Oobl ".“

(G 5 Exk (G 18

xy (—(L '

&
@ USG/




